101. Which of thfa following objects do not belong the solar system?

(A) Comets

w Nebulae

(C)  Asteroids

(D) Planets

| &flw GHLUSmS FyTs GUmHET cTg)?
(B -eineibaies
B  Gpuer
(C©) OpCaneraer

D) CGarerger

102. According to Modern Atomic Theory which of the lelowingl statement is wrong?

(A)  Atom is the smallest particle that takes part in a reaction

i \M‘ Atoms are indivisible

(C)  Atoms of the same element may not be similar in all their properties

(D) Atoms of different elements may be similar in some of their properties

pefan signd QsraramsmuL Qun@%g@mu Gemau(HLd & Ha) g,eug;n@g;?

A g ereLg) Gmgﬁ]eﬁlmmuﬁléu FHUBWL WssHlu gisar

B) emsser Gerés QuTsma

© em g;suﬂm-g';é,]e&r SDRSF g@]_sg,@m DTS uaﬁrua;aﬂ@jm 25865 Gmaﬁqmgﬂﬁ)mm

D) GaeuCGeaun gaflwrsailen vamsser Ha uasaflad S5 HEEW
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103. Whiéh of the Ifollowing are carbonate ores? -
"(A) Cryolite, Fluorspar

. (B)  Bauxite, Cuprite :

o \M Magnesite, Siderite

(D) Galena, Cinnabar

Yemeumeuaneupmer sTTLGEIL STg&s6T eremeu?
Q)  derCGuremeL, «.LE@pTevum

B) umgemevl; Gl |

© Quéeesi, HLeyl _

D) seSenm, Aemarumt

104. In whose name Jammu Tavi Botanical garden is named

M Janakiammal
(B)

Linnaeus
(C) Engler

(D)  George Bentham

sbap sreil sreugeilc) L misT writ QuuA® a[aim'ligsheng';?
(A) : QTETEWLIDLOTET

(B)‘ aﬂs&rcmu@

© | GTIRIGITIT

D) grirgg Qupgid
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105. Who is the author of Book Anatomy of seed plants?
(A) A Schmidt

\(w Katherine Esau

(C) Ray.F
(D) K.N. Rao

Nengs sreumsatien 2 dramanLIg W B QeuafludllLeum
(A A aefic
B)  Csggfen men
(C) Gy F
(D) K.N. g

106. Consider the following statement.
Assertion (A) : Neutrophils are belonging to granulocytic type.
Reason (R) : Neﬁtrophils contain no granules in cytoplasm.
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
\m (A) 1s correct but (R) is wrong
(D)  (A) 1s wrong but (R) is correct

s eursSlunisemar &mheda Qamers.

gahm (A) 1 Bl Grrlddaer gia6m sMHs @765 Ol6udTen e e &aerT.
smgewtd (R) - Bl Grmlbevaatiehr ens GLmlerns giseraer @.é}mw‘
A) (A wpgibd (R) s

® A oppd ®) soup

© (A sf R g

D)  (A) saug (R) &
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107. The hormone which maintains pregnancy and regulates menstrual cycle is

M Progesterone

Oestrogen
(C) Relaxin
(D)  Testosterone

wrgedmi &pnHé wHmib sTiu Hlevewenws Frre urTwiléEn anprrCure
(A) _ LGrmQigavig pren

(B)  mevl Crmegen

(©) Aeorseder

D) Qrev GLmeviegmes

108. Consider the folloﬁving statement :
' I As far as Balotra, the water of Luni is generally sweet.
IL. At the Rann it is saline.
Which of the above statement is/are correct?
(A) Ionly
B) Ilonly
\m I and II are correct
(D)  Neither I nor II

EpsaL smpmsmen G o8/ cTeneu &l eren QarREsiiLlHerer GHlULseT apod CHTBESH.
L @nenﬂ <phidler B urGem igym auem.r; HEEIWITS 2 CT6Tg). ' '
| 3L gt U HL& u@@uﬁ]é}.a‘ﬁqg SeTenioIL| L6t STeRTILHE D).
A Twlipo
®B) ITwl@bd
© 1 wHmbd I #flwurerenay
D) I gomwe Il game
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109. = Which of the following is a biosphere reserve?
(A)  Mundanthurai
(B) Vedanthangal

Mudumalai

\W Gulf of Mannar

Spsamcupmer 2 UITCarer UTgETUL WD 6rg)?
@A) e pger

(B) GeuL_harhise

©) wgwae _

(D)  wewennit cuemem@LT

110.  Which Pallava King was called as ‘Mamalla’?

(A) Mahendravarman — I

m Narasimhavarman — |

(©) Manavarrﬁa_n

(D) Parameswaravarman — |

‘Lomevevent’ Grmg)empésasug L LIGDEUGU LDGITEUTENT WITIT?
(A wsemd wCsHTeTLE

B)  wsomd Bribweuiwe

(C)  wreneumoes

D) pserbd urGweveureumnesr
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111.  Who got the title Vikramaditya?

(A) Samudra Gupta

W Skandha Gupta

(C) Kumara Gupta
(D) Chandra Gupta — 11

fdrordaun aerp ULLsmst QUDD GLS eneit W™
(A ssdly GUST

(B)  evsps @usT
(©) o ELsT

(D) endly gugT— 11

112. A painting depicting a woman with her child tied to her waist, throwing an arrow is found |
in |
(A) Elephanta
(B) Ajantha

@m Quar gar wyWd Eehesows slys Qeran® mlg afdy gadlub gam QuEs
smeTLLHEng) ' '

(A)  erelluesrm
B)  oigHsT
(©)  QibCulsr

(D) eoCempm
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113. Which of the following is incorrectly paired?

(A)  Periyapuranam —

(B) Kalingathuparani -

(C) + Seevakachinthamani

w Muvarula o -

Sekizhar
Jeyankondar
Thiruthakadevar

Nathamuni

SIS cuDmIET 6Tg Humrsl QummSsSUIUL (Herearg)?

(A) Quilwyyremrid e

B)  sdmssgiurean -

(©) Feasdbgroeani N

D)  epeummeor -

Cagdlpm
@gm@@a;nai&n..rrr’r
Emsssstaa

Br&pet

114. In which language the “National Pledge” was initiated?

(A) Sanskrit

' B) - Hindi
w\ Telugu
(D)  Urdu

Ggsﬂu__l o miFlQwmf wpgerpseien erhg Gwmlude 2 (Heursasiul L g)?

(A) &Losﬁjé]@g,m

B) g

©) Gsameg

D) =@
EO4GE
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115. The term democracy was first used by whom?

®»)
©
D)

Nelson Mandela
Herodotus
Indians

Aristotle

W&SaTTL &l erern Gemdene WpSa (PpHeNas LU (HSEweuiT wi?

&)
B)
©)
D)

GBeaer werTGLcom

QanGrrGLm’L e

@bdwisdr

Siflavmig e

116. The distribution of powers between the centre and the states in the Indian constitution is

based on

A)
B)

Minto Morley reforms, 1909

Montegu, Chelmsford Act 1919

m Government of India Act, 1935

(D)

Indian Independence Act, 1947

BBHU s, Hsmr kSR aTHs s LSSt g L udd aupmsLIUL (ReTerg)?

(&)
(B)
©)
(3)

&G wmiel g s sniser, 1909

- rerGL @ GebevCumri(® b 1919

. @Bw SirsTis s Lib, 1935

@QBAL sspdT s LD, 1947
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117. Which part of constitution of India deals with State Government?

(A)

VA

(©)
(D)

Fifth
Sixth
Fourth

Third

QnHw irdlueeanotnlen erhs LiGHUND wrble siparhsd LHMH eSeuflss LB Hng)

(A)
(B)
(©)

(D)

" BBSTD

<MD,

BTEISMTLD

" EPETMITLD

118. In a parliamentary system of Government the executive is collectively responsible to the

(A)
B)
(©)

S

Prime Minister
Judiciary
President

Parliament

6T, UTIMERLOETD HATEMaE (penuiled Hifeurss giemmé@ sal () durTnuunss Sepdnsg?

(A)
(B)
(©€)

(D)

EO4GE

Qrguof
Bésgieom
G4 WIHSHSHMVeUIT

LT (EHLOGTDLD
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119.  Who popularised the concept — “Law should govern”?

(A)
(B)
(€)

Harold. J. Laski
Nelson Mandela

Rousseau

\(ﬁ\ A.V. Dicey

‘FLLSSlet 81" eramm shSHanen WyueLLHSS et

)

(B)

(€)

(D)

Qangrer® J. emevdl
Qpevgen wamGLevr
epGam

&r.69. en_8l

120.  Which country is not a communist country?

D)

North Korea

“QurgieyeLanio 2i7&" Hloveurs B

(A)
B)
©)
D)

spLILITa
Sewrr
Syur

auL_Qamflwmr

37
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121. The Amendment of the constitution which enumerates the fundamental duties of the

citizen?

Gywésafler SyUumL L updl eflergE@w s rfluwamwiys $mesn

A 42
(B) 45
(C) 48
(D) 52

122.  Zero-hour is in practice since

(A) 1935
(B) 1950
W 1962
(D) 1965

Lspedlwi—-Grrb menLwpernliuBSSLUL L o 61[H

A) 1935
(B) 1950
(©) 1962
(D) 1965
EO4GE 38



123. The aim of the government is to increase the gross enrolment rate of ————————% in higher

education in 2020.

@ 15
) 25

© 35

D) 45

o Wis®6d Caigms aSsib 20206 ——————% 245 o WITESIED BHHW Siélen Crrésib.
a) 15

(B) 25

© 35

D) 45

124. Which one is incorrect in G-8 countries?

) India
(B) England
(C) Russia .

(D) Japan

Genaumeuaneapmier G-8 prH&6T siamwlibley Geers Hr( og)?
@& @pun |

B) @udenrmg

(C)  peigwm

(D)  gmiumer
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125. Which of thé following pefson is a Moderate leader?
’ £ Lokmanya Bal Gangadhar Tilak
it . Dadabaiiorer
III.  Bipin Chandra Pal
IV.  Arabind Ghosh

@y 1T .,‘ﬂn

(©) 111 O) 1V

EPEE@TL6UTSHEHET (U LlFeumdlwireunt:
I: urrsv a;réja;.rrg,l;r @meﬁﬁ

11 srerumi dperGrmed)

1L 99er spdlyumed

V. Gﬂrjeﬁ}@gj Cames

A I B 1I
C) 11 D) 1v

126. E.V. Ramasamy was born on
(A)  September 16, 1879
(B) - September 17, 1878

W September 17, 1879

(D)  October 17, 1879

r.Geu. @umoemd Qmuq_

(A) G‘EFL'.II_L-DUI:I; 16,1879
(B) Q@soibuil7,1878
(C) Qeliburr 17; 1879

D)  =&Clrmur 17,1879
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127. Who founded the “Saﬁya Shocihak Samaj” (Society of seekers of truth)?
W Jyotiba Bhule
(B)  Sree Narayana Gur‘u‘
(€)  Ramalinga Adigal

(D) Sripada B.V. Sadhu Maharaja

-

‘sh8u Gengs s’ (2 @menwo CaHGauni srsid) ey Siewiou gHUGSHLT
(A)  CGgrduryCe ‘

®B) B pmrues G

€)  Qumoditus sig s

D) wburs B.V. ang) wargrgr

128. National Dolphin will be set up in which state?
W _ Bihaf '
(B) Assam
(C). Punjab
(D)  Uttar _Pradesﬁ

-

Caflw Lravber enwwb erhs wrilegde QJG}J‘%—&L'JLJL_- o _Gmemg)?

Ay e
B) - <=emb
©  uegpstl

D) =288y 9yCgswd
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129. Recent studies have revealed the entry of microplastics into the food chain through

w Mosquitoes

(B) Frogs
(C) Fish
(D) Birds
sBusHL sl mem Getmavgs@aeT (microplastics) —— afluns a@isreqé

sriflalullayer menpdlarnen ereiens GleuatlEsm ig ujemeng,.
(A Qsrasser

. (B) seumerser
tC) WDemser

D) umpeneuser

130. Who is the first Indian to become the member of American National Basketball Association
(NBA)? '

(A) - Cavalier |
(B) Shubham Jaglam

w Satnam Singh Bhaméra
D) | Saina Nehwal

2Qwflssreler Calw g LiLmbg) a;%pasgﬁg')@ (NBA) Gg,fr(rb@g,@é;;sﬁul'_l_ g @bElwi wmi?
@) sadui T |

B) sub Ag&seom

(C) FLpId i oy

(D)  eepr @BuIeu®
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131. Sthree Shakti Puruskar — “Rani Lakshmi Bai National Award” — is given for recognising
(A) women’s emancipation -
M outstanding national women achievers
(C) - achievements in games

(D)  preventing child labour

b g6 yreagsmt grestle s umi Cosflw elma Grgfo&srr&; urIslILH g ?
(A Qua eflHgenadsts CUMyTg e THET

(B) Csssdnsns sngmen 4fbhs Quamoeflsar

(C)  eenemwml g sngemen LfbseuTaEnés

(D)  Gwbws dgmflerart wapaw gL FLISMITSEHES

132. In which day Ramnath Govinth took charge in President of India?
(A) May 25, 2017
(B) dJune 15, 2017

(C)  July 15, 2017

M'July 25. 2017

@pSu Gy wras sevaurns grbprd GCarellhs LgseICuhm Hrer
(A) Gw 25,2017

(B) g9en15,2017

(C) 99w15,2017

D) g 25,2017

-~ o 43 EO4GE
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133. Nuclear Test ban Treaty was signed in

(A) 1973
\m 1963
(C) 1950
(D) 1947

DI DS SEOL&F EFi;[_LiZ) 86L& S TErT 4,68 (b

(A) 1973

(B) _1963
.+ (C) 1950 -
(D) 1947

134. Who reached the Himalayan Peak in 117 days?
(A)  Hillary

\A’ Steve Plain

(C) Arnad Petrom

(D)  Patchanthiri Paul

Qurowu Hajsder waiam 117 prisafld AL srgsameny FI'G‘I'I'f[
@A) afeorfl

(B)  cviec A@eruer

© e Quc G

(D)  wEGerHM umed
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- 135.  Whigh Museum established in Coimbatore Agricultural University at India’s first time?
Pests Museum '

(B)  Fruits Museum
(C) Vegetébles Museum

(D) Millets Museum

- @pdwurellér (psd  pEDWTS Gameneu Cgsum.r'reﬁw UDEMOEHPE GUETTESSD  DMDEHULLL
éi@réja;rn'_ﬁu_ianb |

Q)  ysflsdr mrsT Ausd

(B) | UILPRBISET Si(HRISTL WL

(C) smusdaer SwHRIGT_SwsD

D) sraflwunser SwHRETSWSD

136. Which country spread mofe emission of carbo.n dioxide in world level?
(A). | Americé
q!ﬂ China
(©) India

- (D) dJapan

2 8 Ieralley sflwdle eumweameu Siflawns 2 YL B eTg?

(A) QwissT

B) e
©) @bsun
(D)  glumer
g \ e s ' | EO4GE
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137. Who is the Governor of Reserve Bank of India?

(A) Sambath
@ﬂ Shakthi Khantha Dos
(C)  Geetha Gopinath

(D)  Arun Jetlee

@pHw Msiey eumidluflen o EmpT wri?

(A) FOUS
(B) F&E) SMHS STV
(C)  &sm Cenlpns

D)  imein Qg e

138. Find the mean of the following :

10, 20, 30, 40, 50

A 10
W 30

Sparaumeusatien syrafl srams.

10, 20, 30, 40, 50

A 10
(© 30
EO4GE

B)

D)

- B

D)

46
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40

20
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139. A car covers a certain distance in 4 hours if it is travelling at a speed of 60 Km/hr. How

“much time would it have taken if it were travelling 20 Km/hr faster?

(A)

D)

3.4 hrs

@@ wElpHg 60 &.u5/weafl erearn Ceussdadr QFeamned em GMUIGALL girsams 5;5;5_4 wemwtl Grrbd

aHgs Qerading). sibs whwbe 20 6.5/ werfl ellayeurs Qsarpmd SIHS HITEDS EL&8 TO58I5

Qamememd Cryb eTeueueTa?

(A)
®)

()

(D).

3.4 wentl
3.0 wenfl
3.5 wewfl

3.2 wewfl

140. One of the measures of Central Tendency is

: J‘ Mean

(

®)
(©)
D)

Variance
Standard deviation

Square root

WU CUTEE, SIeTE®6USEHET QRETD)

A)
(B)
(©)

D)

&Uﬁarﬂ
upeudLlg

S aflevssid

- QUITES CLPAILD

47
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141. Find the LCM of (6, 20)

A) 20

\’5\60

(6,.20) an B&dly Gung) wLBE
(A 20

(C) 60

142. Convert 6:4:10 into percentage
(A) 60% :40% : 100%
B) 6%:4%:10%

\W 30% - 20% - 50%

(D) 30% : 50% : 20%

6:4:10 erenm eNdlsHems #5655OMS LIHN) |
A)  60% : 40% : 100%

(B) 6%:4%:10%

(Cy  30% : 20% : 50%

(D) 30% :50% : 20%

EO4GE 48
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®y

(B)

(D)

40

80

40

80



¢ ’i b3
143. Slmphfy b o
- a- a

‘W a®+ab+b?

B) a®-ab+b?

0™ Sarieh
Dy g =b

03 b3
&@a;@a;a b b-a

(A)  a?rab+b?
B) a’—ab+b® ‘
© b
D) a®-b®

144. The LCM of two numbers is 6 times their HCF. The sum of the HCF and LCM is 210, then
- HCF is equal to

A) 1260
®) 35
() 210

-mgo

@UGMT@ crainscidn 580, <peng é}l@.l[_l)[fﬂ@? B.Qume.—er 6 Lk, Gm@m 15.8.10. WHOD
B.Qu.cu. Gseflan ENOET 210 arafled 5. Quim.eu. —esr Lo@ul_{

3' (A) - 1260

®) 35
(©) 210
D) 30
3 : _ _ o 49 . EO4GE
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145. If 12 men can build a wall 96 meters long in 6 days, what length of a similar wall can be

built by 15 men in 3 days?
(A) 72 meters
(B) 90 meters

(C) 86 meters

N 60 meters

12 oyt ser 6 prsafié 96 S Sarperer seuany sl iy (PigdsTa 15 g6t 3 prisafle ereucuerey Hars -
FeUanTs S lg (Pl LIUIT? f

(A) 72 8rii

(B) 90 8L
(C) 868
(D) 60 B8

146. The ratio of the -ages of son and his father in 2015 and 2023 are 1:4 and 3:8 fespectively.
Find the sum of the ages of son and fatherin 2010

O\ 0 (B) 30

) 35 @ 45

2015 wpmb 2023 & e wse WHMYWL Shosulear wwg Hgbd WepCu 1:4 wHmb 3:8 eafld
2010 & wsen LHHL sHsIET auwgsalen s B wg?
(Aa) 40 . B) 30

© 35 (D) 45

EO4GE 50 | s



147.

148.

B)
d\ 2500

A dealer allows a discount of 20% and still gains 10%. What is the cost price of the book

which is marked at Rs. 4407

@) 396 \gﬂ\ 32

(C) 352 | (D) 376

@R Ussss5Hen ellenauied 20%.§¢@uq Qegrad e elwrurfgeg 10% Qeorub o sdng.
SILssss8a GNss e . 440 arafler Disan SiL&8 elene wig)?
(A) 396 (B) 320

() 352 (D) 376

~ Find the Simple Interest on Rs. 5,000 at 10% per annum for 5 years

(A) 3500

5000

D) 2000

L) @ 5,000 &@ 10% cul_ig 6558 5 e (H&EHEE Sl ul_lg cTemmen?

(A) 3500
(B) 5000
(© 2500
(D) 2000

51 _ - EO4GE
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149. Find the missing number in the following :
11,6, 0, -7, 15,

(A). -21. - (B) -19

A 24 " (D) -10

£Cp Qsn(Raésiul Gerer arar euflasdier eAHUL L erenemas sTas.

11,6,0, -7, ~15,
@a =21 - . . (B) -19
Oy, 2% - | . (D) -10

150. Find out the missing number.

0,6,24,60,__,210. Lo
q/ﬂ 120 B) 144
© 9 - 35, # D) 96

AU L CTETENEmTd HITeiTs.

0, 6, 24, 60, el
Ay 120 B) 144

(C) 90 : (D) 96
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151. A particle moves with constant velocity, what is the force acting on the particle?

152.

153.

(A)  Always zero
Need not be zero

(C)  Always not zero

(D)  None of these

wrors HansCeausssicer Qeog)b gsaflan Bg QewauBb eflemsulien wHiLy eremen?
(A)  edQumpgd s

B)  sflwns @Qmas Cauemgw Seuflubldeme

(C)  erdQumpgb s fwdHo wHY

(D)  CupserL egeafaame

Electromagnetic waves are
Transverse wave
(B) Longitudinal waves ,
(C) Transverse and Longitudinal waves

(D)  Neither transverse nor longitudinal

WOIENETIHS HENSET GTEIILIG)

A - @@é&@ﬁ)@)&;&

(B) QslLemaser

(C) @EnéEs®VsHT LHND ABLL ST

D) GnssmOsEHD OO QB L®QSEHD 240D

Fuse wire used in an electric circuits is based on the principle of
(A)  Charles law
(B) Newton’s law of motion
Joule’s law of heating
(D) Newton’s law of cooling

Weahmssaticy qu;einu@fn e 2 (5& Qevw ot efldullen g liueuller QewpuBEng?

(A)  snieev 94
B) Hul el Quss ehd

A0 m9d Qeuliu eflenarey efl

D) P Lalar Galiay ol

53
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154. Carbon forms large number of organic compounds dl_le to
(A) Isomerism

(B)  Allotropy

\M\ Catenation

(D) Tetra valency

ST &@&Du@mn&r &iflw CamomgEemer 2 (Heur&Es &TTaRTLD
(A)  wrHdwd

B) yoGeaupmeno auigeud

(C)  smdled Qamgréshd

D) preng Qevamgpen

155. Consider the following statements.
Assertion (A) : Diamond is no.t a good conductor of electricity.
Reason (R) £ It has no free electron.

\W Both (A) and (R) are true and (R) is the reason for (A)
(B)  Both (A) and (R) are true and (R) is not the correct reason for (A)
(C)  (A) is true but (R) is false
(D) Both (A) and (R) are false

SpsaL curdSlunismen seueilése, .

gapm (A) : Gmﬁm.b @ WenaL g8 2. _

smremid (R) @ @& saf$s erova_rrener Qunblpéseilavene.

A)  spmi(A) wpmw smyed (R) @ramGio #M. (R) 2ue1g) sapm (A)-en eflwnen smyestid <p,@W0
(B) sanm (A) wpmid sryewid (R) @rar@®b #fl. (R) yeang) sapm (A)-er sMwren smyentid e
(C) @mpm (A) sfl, sngemrd (R) seum

D)  spm (A) wHpbd sryemd (R) Qrar®w seum
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156.

Alcoholic fermentation takes place in which organism

(C) Bacteria

(D) Virus

sanTelld AnTdssa penCumib o ulfarnd erg)?
(A) el

B)  yepes

(©)  umsefwur

(D)  emeupev

Which is insectivorus plant?
(A) Cuscuta
(B) Monotropa

(C) Vanda

M Drosera

ILEL,#(;] as&m@ﬁl.b STEUTLD 6TE?
(A)  sevELrLT |
B wrCGen_Ggrumr

(©)  eumaTLT

(D) 1'_|Ier31;rrr_

55
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158. Match the following :

(a) Beriberi - 1. Vitamin C
(b) Pellagra | 2. Vitémin B;
(c) Scurvy | R | Vitamin D
.‘(d) Rickets | 4.  Vitamin Bs-

(@ (b © @

@» 4 3 2 1
M 2 .4 1 3

© 1 3 4 | 2

D 3 _ ' 2. 1 4

.Gurr@ggﬂ&;:

@ QuAQUA ' b o asitidae:
(b) @uabsurré;grr. 2. eneul_Lfler By
(© dvsiell 3. @elLiflar D
(d) Mslasev 4. emsﬁLurS]e’m Bs

(@) (b) (©) (d)

A) 4 3 2 1
(B) 2 4 1 3
© 1 ‘3 4 2

® 3 S 4
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159.

160.

- 161.

Which of the following is not correct? -

M Tamilnadu produces about 20% of total sugar in India

(B) At present Tamilnadu has 42 sugar mills

(C) A majority of sugar units in Tamilnadu are functioning under the co-operative system

(D)  Jaggery, Kardasari and Sugar are products from the sugar industry

Gleiteumd ennmisetley seummeng,) erg)?

A)  @pslwuneien 20% srssamy o-HLsSS) g,uf)]@‘r_r;mf_mreb'agb ugsHwrdng

(B) g,ﬂ@(r_r,rrf_l.-q.cb QISSD 42 FTEHEDT HEOSET 2_ETeTE

(C)  srémamr YBomwsd sl (HDey FHGRSATTEO HLSSILGEDE

D) Qeudverd, sHsaE(), ETEST S weneu &mb(HHg fenl_&@h 2 Husd Qummer

Fl

The Forests Conservation Act was passed in the year
(A 1970 ‘ ' (B) 1975

\gf‘ 1980 o (D) 1990

euaTUUMgISTULE UL D Gjrj)u@gg;ﬁlu L a1 (h)
(A) 1970 (B) 1975
(C) 1980 _ : ' (D) 1990

Cost efficient and most popular mode of transpbrt in our country is

(A) Airways

W) Roadways

(C) Waterways
(D) Railways

BLD BTLIg 60 Genmbhs QFee] wHmib SieereurTed uwenuBssuu®b CursEaursg

A)  eumeeulfl
B) s
(C) BrreuLf)

(D) @r}ufﬂeu Curé@eursg
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162. A great exponent of the Bhakti movement born at Sriperambudur

\ﬁ Ramanuja

(B) Ramananda
(C)  Guru Nanak

(D)  Mirabai

gﬁ@u@Lbugmﬂéo Qoig L&SH @usssmsts urLweaitsaild RN Ss&seau
(A)  @umwonaygT ' |

(B)  Qurereps

©€) @b |

(D) Bgrumd

163. Dr. S. Dharmambal started an agitation for the cause of Tamil teacher’s called

(A) Dharma Varam

W Elavu Varam

(C) Tamil Varam

(D) Hindi Varam

Lm&LIT. eren. giombume sl Afwis@pssns bLsdu CumpmL b
(A) s eunid

B) Qe amb

(C) s eunpid

D) ‘@‘r_r;él QUTILD
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164. Which of the following Mughal king's name had the meaning ‘fortunate’?

( Humayun
(B)  Akbar
(C) Babur

(D) Shahjahan

Sipssa ahg Qursarw weralen QULmES ‘Sif ey sme aremmy QummeT?
(A) e omyen
B)  =sur

(O unui

(D)  egymgmammer

165. When was the Third battle of Panipat fought

(A) 1861
| M 1761
€ 1751
(D) 1762

epenmmd ureluiu’ Gumrt eruGurg penL AupHmE?

(A) 1861
B) 1761
(©) 1751
(D) 1762
o = 59 ' ' EO4GE
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166. ‘ Who said, “A post dated cheque on a crushing bank” is Cripps mission
(A) Jawaharlal Nehru
(B)  Dhadabai Naorojee

Subash Chandra Bose

\W Gandhiji

“Seurewrdls Qamemg maEh euridlulien e Gl L srGamea g,rrstﬂ gfllen G eremm galucui

wmir?

(A seuanierd Cr
(B)  grsmumis AparGrng]
(C)  surdy siSly Cumay

D) i

167. The Textile capitél of Tamil Nadu

w Karur

(B) Coimbatore
(C)  Madurai

(D)  Thiruppur

SLOPHTL g 6 @5&@4_5 BDWBETLD
(A s

(B) Camubyggni

©) gy

(D) Sy

EO4GE _ 60 : ©3



168.

169.

To introduce money bill in parliament, prior permission of

Prime Minister

\M President

©) -

D)

LNFTEHLOETDESSD  Liaw wGergreney  AMPSLLHSS

Attorney General

- Finance Minister

Gasemeuiu(h&lmgl

@) Grgwo v

®) G\§WTH SEPevaUT
© é{lil_ﬂ'l:l'@ﬂ Qernyed
(D) | HlE BemoFei

The Governor is appointed by the

(A) Prime Minister
(B)  Chief Minister
m President
6 ) Cabinét
<D(EHHENT .[F;lu‘L&CJusufr
(A) Gh]gm SBDFFT
B)  ysamwist
© Gyurss g,emsueur'r.
D) esn9Qern

61
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170. Ordinances are passed by _

A)

N

©

D)

Chief Minister
Governor
Prime Minister

State Legislature

Sieusy s_Lugener QeuelulHueui wimi?

(A)

PSVELDEFFT
B)  2Emmr
©  Grsw wpsf
D) wrbe s Lwembd
171. “Political Science is an art’-Whose opinion?
(A) Montesquieu, Maitland |
()  Maitland, Bluntschli
(C)  Auguste Comte, Bodin

'\W Maitlahd, Auguste Comte

27w yMeflwene e(p SameLs LML LOT&E HHSUIeUTEET

(A)
B)
©)
D)

EO4GE

wrar@Levdy, el Geoar -

anwl_Gavarl, Lievenl &ladl

- @isavGL CambGL, Cuimg e

el Cevar, savGL GasmbGL
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172. Match the following :

(a)
(b)

()
(d)

(A)

B)

Marxist Approach Exponent

Economical Approach Exponent

Historical Approach Exponent

Institutional Approach Exponent

(a)
2

4

AL

()

Qungs

(a)
(b)
(©)

(d)

(A)

(B) -

©)

D)

3

(b)

1

-

(c)

4

(d)
3

2

LIT&EEWL SeWIE PpeD SbSenauimeni

Qurmaflwe 2igmiE pean Sbsameanumenrt

UTRLTHNY NG PP SBFeamumei

BlmicueT iemIE WP é\,r_isgmmu.mmff

(a)

9

()

1

©)

4

(d)

3 -

63

Friedrich Engels
Sabine

James Bryce

Antonio gramsic

1. QL& erm@sseven
2. seuen
3. Gguev Genyev

4. e CuLraflCur ymbevd
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173. SHADOW Cabinet is the feature Administrative system of

(A) Japan
W . Britain
(C) USA

(D)  France

e1hg BIigen Blieura fplus smserns “Hlipe Siemwssreaey’” cﬂ){mw;'r;@é"reﬁgj?

(A)  muurer
(B)  GfCLen
©€)  =mmr

(D)  Gyrenev

174. Choose the name of District with Lowest Literacy in Tamil Nadu

(A) Chennai
(B) Kanyakumari

(C)  Nagapattinam

W Dharmapu.ri

SWOIPHT_ 1960 GdDHS eT(WH5M6e| ellSlHD Qamarr wreul L b erg)?
(A)  Qsenenan

B)  saaflurguof

(©)  mrsuulgend

D) sy

EO4GE i | | 64



175.

176.

To achieve the objectives of elementary education, the state collaborates with centrally

sponsored scheme

N

(B)
©)
D)

SSA
RMSA
COA

CCA

QsM_&&8 sewei @@Gmﬁ)mgﬁm&n& SUPHTH ATE MW HTHL 6 @eventhg GFwouBHiSHb L b

(A)

(B)

45

)

SSA

RMSA
COA
CCA

In the achievement of Socio-Economic Development, Tamil Nadu stands

@

(B)

First place |

‘Second place

w Third place

(D)  Fourth place

sepsu Aunpeammgmy paGanpnsHe UlPpHrH —— QLo 2 drarg).
(A ypsdnd

(B) @gdﬁgm Lib

©) epeapmiin

D)  prasmoLb
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177. Assertion (A): VOC, charged with sedition, was sentenced to forty years of imprisonment.

Reason (R) : He attended Surat Congress session and followed Tilak and preached his

&)

(©)
(D)

philosophy.
(A) is true, (R) is false
Both (A) and (R) are true, and (R) is the correct explanation of (A)
(A) 1s false, (R) is true

Both (A) and (R) are true but (R) is not the correct explanation of (A)

apm (A)  : w2 8-55 Css gCrss gomd &wssLLLH 40 yaw@dser fop sETLer

gL g,

argawrd (R) © @78 wrpnlige sombg Gs,rraim@ SHasamrl Gearund Seijaunrssamns 2sMssmi.

A)
®)
©
(D)

(A) sl yammad (R) seumy

(A) wpgid (R) @ram@id &, Goguid (R) arénug) (A)-edie sflwmen eflarsid

(A) seugy syaméd (R) s

(A) vpmyw (R) @rem®w &Ml emed (R) eramugy) (A)-aln @ sflwner eflatéswden i

178.  In 1955 he was awarded ‘Bharat Ratna’.

(A)
Vil
(©)
(D)

Satyamurti
Rajagopalachari
Bharatiyar

Kamarajar

1955-b g a@m(® unyg rsenm el mg Guhmeur

A)
B)
©
D)

EO4GE

shHLepisH
@nrrCarumenssmil
urgShwmm

&I
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'179.  Which of the following gases are mainly present in the Sun?

(A)

(B)

H, N,

H,, 0,

«{\ H,, He

D)

Gemeumd cumyssafler @ fluafled sifawns sramiiu@b eumussEr eraneu?

-(4)
(B)
(©)

D)

H,, Ne

H,, N,
I‘Ig, 02
H,, He

H,, Ne

180. Growth of plants only in water without soil is called

Hypertonic

\W Hydroponics

©
(D)

Hydrolytic

Hypotonic

STCUTBIGEDET DT @D GerTarfed L (Hb euamig@id (pepm Geueumm iewpssiuBEng

(A)
(B)
(©)
D)

enanLiurGLrafs
mgoL@dnGunsuﬂé;efu
anam_Crrenevig &

mmd@un@_n@ﬂé
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181. Which country borders China in North, Afghanistan and Iran in west, India in East?

(A)
B)
(©)

I

Myahmar
Nepal
China

Pakistan

awLsde Sam, Conde listalevgrer, mymer, Spsdd QHHur Y BrHSmET TOMETES

Qararr(herer Bm(h 6rg)?

(A)  Bwreroi

B)  Gpunend

(C)  enn
urdlevgmen

D)

_182. Who is awarded “Sakithya Akadami” award in the year.2019 for Tamil Literature

"Translation?

(A)

Joseph

. J Yusup

©)
D)

Step_hén

Venkatesan

Awhs SO @wrr@@umr'ruu Qesslugdipserar 2019 srdlsw ssmibl 6SlHeIsE Ggfrﬁ;@g@é;&suuu_eﬁﬁ

(A)
(B)
©)
)

EO4GE

Gegraty
W&
GVLe LIGH

QeursCLgen
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183; In which j(ear'the Gov_ernment of India has declared Tamil as the “F_irst classical language”?

A) 2003
\94 2004,
(C) 2005
(D) 2015

@pfﬂm SirsTed “apger Aeb@omfuirs” 5@@an[§ SiNlefssrinl L e

(A) 2003
B) 2004 -
(Cy 2005
(D) 2015
184. Rajya Sabha is also called as the —————— house of the parliament.

w Upper house

(B) Lower house
(C)- Middle house

(D) Total house

@rTRW FUT ereUg UMTTEHLETDSS 6T 6Ths a;mm?
(A) G sieneu .

(B) g & em%heu

© 56 owa

(D) Qs Siemeu

AR 69 s .~ EO4GE
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185. How many percentage of people are engaged in agriculture according to the census of 20117

A 52.4%

B)  53.6%
w 54.6%
D)  54.8%

2011 wésa@srans samsaa® e Uy efeusTwgdad FHU iy HHS QbSlw wasafler &g,eﬁg,Lb
(A)  52.4% |

(B) 53.6%

(C) 54.6%

D) 54.8%

186. Where is the headquarters of South-Central Railway?
(A) Itarsi

(B) Mumbai

W Secuhderabad

(D) . Vijayawada

Qger-wggw TuileGeu g,mm%&muﬁ] LD GT1I(G 2-aTerg;?
@A) . @cimd

B) beu
| (©) Qssspdrunsg

D) eSgueurLm

EO4GE ' ' 70 3



187. According to NITI Aayog report, which state use land water more than the required?

(A)

Kerala

! Tamil Nadu

(©)
(D)

B 2Cuinsg oyflsmaienug flaossy Sery Diflswrs uweauBHGg b wrHleb eg)?

@A)
(B)
(©

(D)

188. In which year NITI Aayog organisation established?

Uttar Pradesh

Madhya Pradesh

Caryerm
SUD Br[H
2 5701 A7Csebd

wsHw AyCsewn

W 2015

Bl 2, Cuinég ey 2 (meumen par(h eTg?

(A)
(B)
(©)

(D)

2015

2016

2005

2006

71
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189. What is the Median of the following?
3,4,5,3,6,7,2

@ 2 | ® 3

\M\z;'-" ;D)5

SpsarL eleurnsErsE@ Qe Hlane srer. |
3,4,5,3,6,7, 2
@ 2 ; | ®) 3

(C) 4 D 5

190. Find the circum-centre of the ti‘iangle formed by the vertices (4, 2), (3, 3) and (2, 2)

) (0,0
® 4 3)
© 34

I 62

(4, 2), (3, 3) womd (2, 2) erenm eraflsener 2 Fflsemnss Qaramm g (WPECHTETSHen &HMI UL

GOLDWILD WIMg)?

@ 00 ’

B @3 \
© G 4

© G2

EO4GE ' 79 : | 8



191. Two dice are thrown. What is the probability of getting a total of face numbers 122

1 1
VAT ®

' 1 1
(C) 5 | | D) s

A useLsdr &@l'_z_lju(al.b@;mg] Wps eansafler sm@Bsd 12 Horlusvsrar  Hepssey

LG
1 S _1'
@ o | - | B o=
1 | 1
e = o

192.  If the wages of 15 labourers 6 days are Rs. 7,200, find the wages of 23 labourers for 5 days

(A) Rs. 6,200
(B) Rs. 7,200
(C) Rs. 8,200

15 an@mrrenfr_a;'@é@ 6 "lf,rn;a@é;a;rrm el e. 7,200 srsoﬂr;fo 23 QsmperarisEni@

5 ;_r,rr.l'_s@éa;rrsm 860l eTeusueTEY?

(A) 6w 6,200
(B) em. 7,200
© . 8200
(D) . 9,200
e - | 73 | - EO4GE
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193. Simplify (—9

3
(A) QE
9
B) 32—5
9
(?) —3E
3
J)’ ST
&@é;@aa(—&)
\
(A) 925
9
(B) BE
9
© *35
3
D) _QE

194. Find the “HCF” of 135 and 225

\m45

©

135, 225 &@ BuQum Qung cu@sH smeir

(A)
(©)

EO4GE

35

45
35

ol

13
40

J

74

(B)
D)

B)
D)

40
30

40
30



195.

196.

If n% of n is 64. Then n is équal to

(A)

6400

w 80

n e n% erenuig) 64 erafléy n e ALY wWng?

(A)

©).

Ruban and Krishnan divide Rs. 1,250 in the ratio 2:3. The share of each are

6400

80

\}ﬂﬂs 500, Rs. 750

(©)

(D)

Rs. 550, Rs. 700
Rs. '_?50, Rs. 500

Rs. 700, Rs. 550

(B)

D)

(B)

D)

640

160

640

160

Ui, &measamrentd ep. 1,250 —gg 2:3 eretim a8l 19516 Qamerme, @@Geurr@énﬂeh LGS

Ggnevsunang;

(A) . 500, . 750
B) @550, . 700
(C) @ 750. . 500
D) . 700, . 550

75

EO4GE
[Turn over



197. Find the rate of interest per year of the following details. Amount Rs.'2,000, year = 2 and

| simple interest Rs. 120

wa%-. _ T (B) 2%

© 1% ' D) 5%

@. 2,000 &@ 2 %eﬁtrr@é;@ safl aul_iy ep. 120 crafled e (H&E euLly. eﬁgm eTeuGUETEY?
@ 3% ®) 2%

© 1% : D 5%

198. At what rate of simple Interest a certain sum will be doubled in 10 years.

Q) 20%
B) 8%
W\ 10%
O 15%

@@ GHUALL Agraswrerg 10 GM@LI_IE.IBSGTﬂG'D gafl culig epeod @y igining GeuerT(Homemmed cu_tg
Nésid eremancuns @(més Gaueir(Hib?

(A) | 20%
B) 8%
© 10%
D) 15%

EO4GE _ ' . 76 o . 3



199. The number of prime numbers from 2 to 100 is

200.

2 Sl 100 aueny 2_6rer Lisn aremsaien eraimenflsens

(A 51
B) 25
C). 24
D) | 20

If ﬁve times the fifth term of an A.P is equal to 8 times its eighth term,' find'the 13t term

@ 1 | ® 2

G o o ® 3

@@ s[5 Asm M 5 sugj o mben 5 sL_eneuwirang) 8 eugl 2 miLien 8 sLaneusiE, &w_ﬁn& BmBETD

3 eugl 2 MILIL| ETeTS
w1 B) 2
€ o i D) 3
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